23 4 2ye” = xe™y
zy —2y = ade
o e
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y = c(z)-2?
3¢ = gle™®
clx) = C—e"
y = Cz?—2z%"

Answer:
z=y*(C—eY)

m(m—1) —3m+4=m?—4m +4

yields m = 2 as a double root. Substituting
yp = (Alnz + B)z
in the original equation yields (after dividing by x):
(A-1)lnz+B—-2A=0
which implies A = 1 and B = 2. Solution:
Y= x2(01 +Colnz) +z(2+Inx)
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3. Bernoulli, a = 2. Introducing u = 5> we get
20 —1
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U — = u = 1
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Inu = 2lnz+ —+Inc
x
u = c(z) 22"
¢ = 1372671/(3
clr) = e Vr4C
w = z?(Ce'/* 4+1)
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y =

22(1 4 Cel/)



;2 z
=21+
Zd=—(+h-)

x
u=3
Wr = wulnu
du dx
ulnu =z
Inlne = Inz+InC;
Inu = C;-x
u = e9”
z = 2e9°
y = Clgf_l €T+ Gy

5. szcosi +2zy%, Q = —mcos% — 12

2Q apP
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F = e—Zlny — ?

1
G = /(—cos£+2x>d:r—sin£+$2
Yy Yy Yy

f = G+/<—%cos§—l—a—G>dy=sinz+x2—y
Y Y Ay Y

Solution .
sin= 42 —y=C
Y



